
5685 5685.5 5686 5686.5 5687
cyclenum

0.5−

0

0.5

1

1.5

al
ph

a1
3_

4e
X

1X
alpha13_4eX1X:cyclenum {run == 6185}

5685 5685.5 5686 5686.5 5687
cyclenum

29

29.2

29.4

29.6

29.8

30

30.2

30.4

30.6

30.8

31

31.2

al
ph

a4
6_

4e
Y

4a
Y

alpha46_4eY4aY:cyclenum {run == 6185}

5685 5685.5 5686 5686.5 5687
cyclenum

2.4−

2.2−

2−

1.8−

1.6−

1.4−

1.2−

1−

0.8−

0.6−

0.4−

0.2−

de
lta

13
_1

2X
4e

X

delta13_12X4eX:cyclenum {run == 6185}

5685 5685.5 5686 5686.5 5687
cyclenum

2.2

2.4

2.6

2.8

3

3.2

3.4

3.6

3.8

4

4.2

4.4

de
lta

46
_1

2X
4e

Y

delta46_12X4eY:cyclenum {run == 6185}

5685 5685.5 5686 5686.5 5687
cyclenum

6183

6183.5

6184

6184.5

6185

6185.5

6186

6186.5

6187

ru
n

run:cyclenum {run == 6185}

5685 5685.5 5686 5686.5 5687
cyclenum

0

0.5

1

1.5

2

2.5

3

se
gm

en
t

segment:cyclenum {run == 6185}



5685 5685.5 5686 5686.5 5687
cyclenum

74.8−

74.6−

74.4−

74.2−

74−

73.8−

73.6−

73.4−

73.2−

73−

72.8−

72.6−

us
l_

1X
usl_1X:cyclenum {run == 6185}

5685 5685.5 5686 5686.5 5687
cyclenum

2.5

3

3.5

4

4.5

us
l_

4a
Y

usl_4aY:cyclenum {run == 6185}

5685 5685.5 5686 5686.5 5687
cyclenum

29

29.2

29.4

29.6

29.8

30

30.2

30.4

30.6

30.8

31

31.2

us
l_

4e
X

usl_4eX:cyclenum {run == 6185}

5685 5685.5 5686 5686.5 5687
cyclenum

15.5

16

16.5

17

17.5

us
l_

4e
Y

usl_4eY:cyclenum {run == 6185}

5685 5685.5 5686 5686.5 5687
cyclenum

38−

37.5−

37−

36.5−

36−

us
l_

12
X

usl_12X:cyclenum {run == 6185}

5685 5685.5 5686 5686.5 5687
cyclenum

6183

6183.5

6184

6184.5

6185

6185.5

6186

6186.5

6187

ru
n

run:cyclenum {run == 6185}



5685 5685.5 5686 5686.5 5687
cyclenum

122.5−

122−

121.5−

121−

120.5−us
r_

1X

usr_1X:cyclenum {run == 6185}

5685 5685.5 5686 5686.5 5687
cyclenum

3

3.2

3.4

3.6

3.8

4

4.2

4.4

4.6

4.8

5

5.2

us
r_

4a
Y

usr_4aY:cyclenum {run == 6185}

5685 5685.5 5686 5686.5 5687
cyclenum

201.5

202

202.5

203

203.5

us
r_

4e
X

usr_4eX:cyclenum {run == 6185}

5685 5685.5 5686 5686.5 5687
cyclenum

12.5

13

13.5

14

14.5

us
r_

4e
Y

usr_4eY:cyclenum {run == 6185}

5685 5685.5 5686 5686.5 5687
cyclenum

42−

41.5−

41−

40.5−

40−us
r_

12
X

usr_12X:cyclenum {run == 6185}

5685 5685.5 5686 5686.5 5687
cyclenum

6183

6183.5

6184

6184.5

6185

6185.5

6186

6186.5

6187

ru
n

run:cyclenum {run == 6185}



5685 5685.5 5686 5686.5 5687
cyclenum

20710.5

20711

20711.5

20712

20712.5

us
l_

co
il1

usl_coil1:cyclenum {run == 6185}

5685 5685.5 5686 5686.5 5687
cyclenum

3250.5

3251

3251.5

3252

3252.5

us
l_

co
il3

usl_coil3:cyclenum {run == 6185}

5685 5685.5 5686 5686.5 5687
cyclenum

4326.2

4326.4

4326.6

4326.8

4327

4327.2

4327.4

4327.6

4327.8

4328

4328.2

4328.4

us
l_

co
il4

usl_coil4:cyclenum {run == 6185}

5685 5685.5 5686 5686.5 5687
cyclenum

224−

223.5−

223−

222.5−

222−

us
l_

co
il6

usl_coil6:cyclenum {run == 6185}

5685 5685.5 5686 5686.5 5687
cyclenum

2362.2

2362.4

2362.6

2362.8

2363

2363.2

2363.4

2363.6

2363.8

2364

2364.2

2364.4

us
l_

co
il7

usl_coil7:cyclenum {run == 6185}

5685 5685.5 5686 5686.5 5687
cyclenum

6183

6183.5

6184

6184.5

6185

6185.5

6186

6186.5

6187

ru
n

run:cyclenum {run == 6185}



5685 5685.5 5686 5686.5 5687
cyclenum

17874.8−

17874.6−

17874.4−

17874.2−

17874−

17873.8−

17873.6−

17873.4−

17873.2−

17873−

17872.8−

17872.6−

us
r_

co
il1

usr_coil1:cyclenum {run == 6185}

5685 5685.5 5686 5686.5 5687
cyclenum

2571.5−

2571−

2570.5−

2570−

2569.5−

us
r_

co
il3

usr_coil3:cyclenum {run == 6185}

5685 5685.5 5686 5686.5 5687
cyclenum

4696.5

4697

4697.5

4698

4698.5

us
r_

co
il4

usr_coil4:cyclenum {run == 6185}

5685 5685.5 5686 5686.5 5687
cyclenum

338−

337.5−

337−

336.5−

336−

us
r_

co
il6

usr_coil6:cyclenum {run == 6185}

5685 5685.5 5686 5686.5 5687
cyclenum

34616.5

34617

34617.5

34618

34618.5

us
r_

co
il7

usr_coil7:cyclenum {run == 6185}

5685 5685.5 5686 5686.5 5687
cyclenum

6183

6183.5

6184

6184.5

6185

6185.5

6186

6186.5

6187

ru
n

run:cyclenum {run == 6185}



5685 5685.5 5686 5686.5 5687
cyclenum

289−

288.5−

288−

287.5−

287−1X
_c

oi
l1

1X_coil1:cyclenum {run == 6185}

5685 5685.5 5686 5686.5 5687
cyclenum

19.5−

19−

18.5−

18−

17.5−

1X
_c

oi
l3

1X_coil3:cyclenum {run == 6185}

5685 5685.5 5686 5686.5 5687
cyclenum

315

315.5

316

316.5

317

1X
_c

oi
l7

1X_coil7:cyclenum {run == 6185}

5685 5685.5 5686 5686.5 5687
cyclenum

309.8−

309.6−

309.4−

309.2−

309−

308.8−

308.6−

308.4−

308.2−

308−

307.8−

307.6−

4e
X

_c
oi

l1

4eX_coil1:cyclenum {run == 6185}

5685 5685.5 5686 5686.5 5687
cyclenum

41.5−

41−

40.5−

40−

39.5−

4e
X

_c
oi

l3

4eX_coil3:cyclenum {run == 6185}

5685 5685.5 5686 5686.5 5687
cyclenum

262.2

262.4

262.6

262.8

263

263.2

263.4

263.6

263.8

264

264.2

264.4

4e
X

_c
oi

l7

4eX_coil7:cyclenum {run == 6185}



5685 5685.5 5686 5686.5 5687
cyclenum

198

198.5

199

199.5

200

4a
Y

_c
oi

l4

4aY_coil4:cyclenum {run == 6185}

5685 5685.5 5686 5686.5 5687
cyclenum

51.2

51.4

51.6

51.8

52

52.2

52.4

52.6

52.8

53

53.2

53.4

4a
Y

_c
oi

l6

4aY_coil6:cyclenum {run == 6185}

5685 5685.5 5686 5686.5 5687
cyclenum

18.5−

18−

17.5−

17−

16.5−4a
Y

_c
oi

l7

4aY_coil7:cyclenum {run == 6185}

5685 5685.5 5686 5686.5 5687
cyclenum

206.2

206.4

206.6

206.8

207

207.2

207.4

207.6

207.8

208

208.2

208.4

4e
Y

_c
oi

l4

4eY_coil4:cyclenum {run == 6185}

5685 5685.5 5686 5686.5 5687
cyclenum

3−

2.5−

2−

1.5−

1−4e
Y

_c
oi

l6
4eY_coil6:cyclenum {run == 6185}

5685 5685.5 5686 5686.5 5687
cyclenum

16.8−

16.6−

16.4−

16.2−

16−

15.8−

15.6−

15.4−

15.2−

15−

14.8−

14.6−

4e
Y

_c
oi

l7

4eY_coil7:cyclenum {run == 6185}



5685 5685.5 5686 5686.5 5687
cyclenum

236−

235.5−

235−

234.5−

234−

12
X

_c
oi

l1

12X_coil1:cyclenum {run == 6185}

5685 5685.5 5686 5686.5 5687
cyclenum

83−

82.5−

82−

81.5−

81−

12
X

_c
oi

l3

12X_coil3:cyclenum {run == 6185}

5685 5685.5 5686 5686.5 5687
cyclenum

3−

2.5−

2−

1.5−

1−

12
X

_c
oi

l4

12X_coil4:cyclenum {run == 6185}

5685 5685.5 5686 5686.5 5687
cyclenum

5

5.5

6

6.5

7

12
X

_c
oi

l6

12X_coil6:cyclenum {run == 6185}

5685 5685.5 5686 5686.5 5687
cyclenum

490−

489.5−

489−

488.5−

488−

12
X

_c
oi

l7

12X_coil7:cyclenum {run == 6185}

5685 5685.5 5686 5686.5 5687
cyclenum

6183

6183.5

6184

6184.5

6185

6185.5

6186

6186.5

6187

ru
n

run:cyclenum {run == 6185}
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